e fh F R K

EH0-0001

ESE S 90 4 FnMT
A EA4 EXi G WH) 02-%k%kkkx—-00001-10
AL 0
FEAL
1 B X 4y 1 Sk HAfh
16 FH LA HiL X 28 RILHET (IHA FoHT)
HAf 6 A B 0-02. 04. 10 (0)
AR R 5 ZEECiH23. 10LLF%E
7 7 ANV
Wit R pip it AR
FELE XSy 41— (e
KXoy 01 A
TS i B LB 01 FHHIED
HEFLE (%) 10. 00

02—#%ktkx—-00001-10




WREHZAR *  ARE o
I E PSS REE XK o
R H - T i CARRR S 5 S VA Hi i & % i =
| &2 et X1000
S i YORZZ 2SI
3t
LB IR E YOR27 NP
| —=
g V0004 0
1 e HE50-0001 3% 020410
A B R V0001 0
| 224 k m HLH50-0002 £ 020410
LD E LD V0003 0
224 k m HLH50-0003  # 020410
AL RE R S E V0005 0
| 1 W HLH50-0004  # 020410
e V0002 0
‘ 1 e H50-0005 3% 020410
ELRE A (ANEEE, BPERE . BRI EY)

02—ktkkx—00001-10




* IS 2

e

E0-0003

T BA - LA LA

%

i

B | W Ofr

SE-&

H

il

ey

i

Ee3

S Gk ¢

70045

TR - R RR

70011

eSS

B

ESiE G

02—ktkkx—00001-10

il

)




s Y4 H0-0004
V0004 ﬁlﬂ I E‘ ﬁﬁ ?E HE0-0001 3
ES0 E)
4 FR Mo 7 F % = B 7 B ity & B diii =
& Em RO720
(NZ) 1 A
0 B Al A RO730
(NZ) A
kok ok HALMTZD O skokosk Ey s
02—skkx4%—00001-10 Koo mp




AR Vo001 i T OHEAfh 0000 £ 50-0003
BN ~

100 km =)
A R B - = # & H {7 HL i 6L G i =

T S A A RO730

(NZ) 1.5 A
e ROT40

(NZ) 8 A
kkk BEF kkk 100 k m
k kk HALYZD 0 skok ok 1 km

02—skkx4%—00001-10 Koo mp



s Y4 H0-0006
BELDE LD V0003 ﬁlﬂ I E‘ /fﬂfl %E H#50-0003 &
100 km =)
4 FR Mo 7 F # = B 7 HL i 4 % i =

& Em RO720

(NZ) 0.5 A
0 B Al A RO730

(NZ) 1 A
W &Bh T RO740

(W) 1.5 A
kkk AEF kk ok 100 k m
kokok o HLMTZD 0 kokok 1 k m

02—ktkkx—00001-10

il

)




F‘ NN /2
HAE S RERT R T V0005 ﬁlﬂ :I: E‘

,fﬂfl ?E EH0-0007
B0-0004 #
&

1 ES 0 =)
A R B - = # B | B AL B iff & G i =

& Em RO720

(NZ) 1 A
0 B Al A RO730

(NZ) 2 A
W &Bh T RO740

(W) 2.5 A
HEMEE RO00001

1 A

sksksk HALYZD skskok 1 ESe

02—skkx4%—00001-10 Koo mp




j}@ I pa = ,fﬂﬁ i% H0-0008
FIew V0002 E‘ HH50-0005 %
A Y4 /i\

1 ES 0 =)
L R - S/ % = B 7 B ity x Bl diii =

& Em RO720

(NZ) 0.5 A
0 B Al A RO730

(NZ) 1.5 A
W &Bh T RO740

(W) 0.5 A
kock sk B0 skokok 1 By

02—skkx4%—00001-10 Koo mp



